Solutions 7.3 -Sping 2008

3. Letz = 3tan 6, where —Z < 6 < Z_Then dz = 3sec” 8 df and

Va2 +9=+0tan?8+ 0= \/Q(tan25'+ 1) = VOsec? 8

= 3 |sec @#| = 3 sec # for the relevant values of 6.

3 3, 3
fJf+gdx=f33tan9935mzadﬂ=33ftan35 secﬁ'd9=33ftan2€tan9 sec # dé
x sec
=37 [(sec®§ — 1) tanf secdf = 3’ [(u® —1)du [ = sech, du = secf tan 8 df]
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1x2—l—93 219
=33(%u3—u)+C=33(%sec”6—m9)+C=33l§( R GER]
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7. Letxz = 5sin#, 50 dox = G cos 8 df. Then
1 1 1 2 5
—_dr = [ ——5cosfdf = — B df -
x? /25 — x? ‘ “'r525in29-5c056’ s QSfCSC x
1 1 /25 — =2 i)
=——cotl+C=—x—+C
25 Ol T % = V5=

19. Let = = tan 6, where — X < 6 < Z_ Then dx = sec’ 8 df

T
and v/1 + z2 = sec @, 50
2
f—mdx=/ﬁ seczﬂcﬂi‘:/sece (1+ tan® @) do
x n

tan @

= [(cscf + sec§ tan 8) df
=In|cscf — cot 8| +secd + C [by Exercise 7.2.39]
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x-l—%=l:—§tanﬂ,sodx=l;—_ sec’ 8df and /=2 + =z + =JI;—§sec5'_ =vxitatl] i
I+F
Then =
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f\f - f\/—taw—_ﬁseczede} %
zt+z+1 sec
=f(%§tanﬂ—%)sec€d9=f%§tan9 secﬁdﬁ—f%secﬂdﬂ
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=vz*tzxz+1-— 2tz 1+ (z+3)|+C
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